Montazni navod

(Montéazny navod, Fitting instruction, Montageanleitumg,

Instruzioni di montaggio, Monteringshandledning,
Asennusohje, Instruction de montage,
Montegehandleiding, WHcTpyKuua no yctaHoBKe)

":

®
ol

Tazné zarizeni
Hyundai Tucson 01/2021->

Tazné zariadenie
Towbars
Trekhaak

Anhangerkupplung de
Dispositif d'attelage
Equipo de remolque

Sprzet holowniczy

Hinauslaitteet
BykcupHoe obopynoBaHue

vyrobce / dodavatel

SVC Group s.r.o.

[=] 3

Odkaz na produkt:
https://www.svcgroup.cz/tazne-zarizeni-sro
uby-pevny-skoda-rapid-monte-carlo-10-20
12-2018-p7283-v960

WWW.SVCgroup.cz



CZ - Tazné zatizeni / SK - Tazné zariadenie / GB - Towbars / PL - Haki holownicze
DE - Anhédngevorrichtungen / FR - Atelages / SPA - Ganchos / HUN — Vonohorgok
RUS/FIN/LIT - ®apkonbl / RO - Carlig de remorcare

TYP VTZ001-509 VTZ002-509 VTZ003-509

SVC GROUP. s.r.0
Primyslovd zona 179
54701 Nachod

01/2021 ->

Pro podrobné montdzni instrukce a podminky vyrobku si naskenujte QR kéd
Pre podrobné montdzne pokyny a podmienky produktu si mozete skenovat QR kéd
For detailed installation instructions and product conditions, scan the QR code
Scannen Sie den QR-Code, um detaillierte Installationsanweisungen und Produktbedingungen zu erhalten
Pour des instructions d'installation détaillées et les conditions du produit, scannez le code QR
Per istruzioni di installazione dettagliate e condizioni del prodotto, eseguire la scansione del codice QR
Aby uzyskac szczegétowe instrukcje dotyczace instalacji i warunki produktu, zeskanuj kod QR
Para obtener instrucciones detalladas de instalacién y condiciones del producto, escanee el cédigo QR
; Voor gedetailleerde installatie-instructies en productvoorwaarden, scan de QR-code
SCAN ME Tarkemmat asennusohjeet ja tuotteen ehdot on tarkistettava QR-koodilla
% A részletes telepitési utasitdsok és a termék feltételei kozott olvassa el a QR kédot
Za podrobna navodila za namestitev in pogoje izdelka skenirajte kodo QR
MoapobHble MHCTPYKLMN MO YCTAHOBKE 1 YCI0BUAM NPOAYKTa oTckaHupyiiTe QR-koa. SVC GROUP ©-11/

e-mail: scv@scvgroup.cz Tel.+420 491421021 +420 491421022 mob.: +420 603360607



HYUNDAI TUCSON 01/2021 ->

WA 116013\

&2 V12001509 [287] B aserss.  CRAZ200/105 D= 59N
% VTZ 002-509 18,84 é A-509-2021 /B 55R-01-0547 \
@ VTZ003-509 (2084 | BB avs09-2021

|

M12x35 3x
M12x40 2x

SMARTKEY SENSOR
ORIGINAL HYUNDAI

M6x25 2X

M12x35 3x

M12x40  4x a1
@12 7x 2X
212 3x

312 4x
J6 4x >
M6 2x

M12 2x

SVC GROUP s.r.0. Primyslovazona-179 www.svcgroup.cz Te'-=j;2‘%8 jg}jg}gg;

547 01 Nachod-CR e-mail: sve@svegroup.cz noh.; +420 603360607
QR kédem si stdhnete si rozsifeny monidzni ndvod / With QR code you can download the extended assembly instructions SVC GROUP ©- 05/19




HYUNDAI TUCSON 01/2021 ->

105 2200 D=| 11,59

kN

&2 VTZ001-509

®d v12002-509 | £ 1 e
@ vizgese 2V e 2V ¢

M12x35 3x
M6x25 2X
M12x35 3x
M12x40  4x
312 X
212 3x M6x25 1x
12 4x
N/ 6 4x SMARTKEY SENSOR
ORIGINAL HYUNDAI
M6 2x
M12 2X

o Homologace EHK 55-R 55R-01-0497

PR p—— ‘Approval Number Class [A50-X] ©

: % " [loosm
5 (] ) 2 i
"% i (\ ] = =

O www.svegroup.cz -

Pevnost 88 109 129
Mé 9,7 143 16,1
M8 A5 359 420
M10 484 710 8,0
M12 840 1230 1440

@ Informace k provozu / homologaci @ Monteringsanvisningar

@ Informdcie na prevédzku / homologaciu @ Instrucciones de montaje

@ Operating / homologation information @ Montage-instructie

M4 1330 190 2290 @ Betriebs- / Zulassungsinformationen @ Asennusohjeet

M16 1B70 3070 3590 @ Uzemeltetési / homologaciés informaciok @ Drifts= /-homologasjonsinformasjon
@ Informations'd'exploitation / homologatio @ Informacje dotyczace pracy / homologadji

SO @ | S |

° Informazioni sull'operazione / omologazio @ /Hpopmauma o pabote /omonorauun

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel: 1338 jg}jg}g%;

= 547 01 Nachod-CR  e-mail: sve@svegroup.cz nob.. +420 603360607
QR kédem si stahnete si rozsifeny monidzni ndvod / Mit QR-Code kénnen Sie die erweiterte Viontageanleitung herunterladen SVC GROUP ©-05/19




HYUNDAI TUCSON & 01/2021 ->

O Tk

SCAN ME

¢
y v r ry
@ Montazn I navod Pro podrobné montaznf instrukce a podminky vyrobku si naskenujte QR kéd

1. Odmontujte zadni svétla a zadni naraznik.

2.°Z narazniku odstrante plastovou vyztuhu, jiz nebude potreba.

3. Do nosniku vsurite levy bok a pfichytte 2§rouby M12x40 pres velkoplo$né podlozky. Nedotahovat!

Do pravého nosniku vsurite TZ a seSroubujte s levym bokem. Celé TZ vyrovnejte a vSe dotahnéte dle utahovacich momentu.
4. Vratte a namontujte vSechny dily odmontovana v bodé ¢.1.

@ I n Sta I Iat i on in Stru ctio ns For detailed installation instructions and product conditions, scan the QR code

1.Remove rear lights and rear bumper.

2. Remove plastic stiffener from the bumper; it is no longer needed.

3. Slide left side into the beam and fasten it with two M12x40 screws through large-area washers. Tighten only lightly!

Slide the tow bar into right beam and screw it together with the left side. Align all the parts of the tow bar and tighten them
to prescribed torques.

4. Reinstall all the parts removed within the step 1.

4 V4
@ Mo ntézny n aVOd Pre podrobné montazne pokyny a podmienky produktu si mozete skenovat QR kod

1. Odmontujte zadné svetlad a zadny naraznik.

2. Z naraznika odstrante plastovu vystuhu, uz nebude potrebné.

3. Do nosnika vsunte lavy bok a prichytte 28rouby M12x40 cez velkoplosné podlozky. Nedotahovat! Do pravého nosnika
vsufite TZ a zoskrutkujte s favym bokom. Celé TZ vyrovnajte a vetko dotiahnite podla utahovacich-momentov.

4. Vratte a namontujte vsetky diely odmontovanie v bode ¢.1.

@ Mo nta g ean I eitu n g Scannen Sie den QR-Code, um detaillierte Installationsanweisungen und Produktbedingungen zu erhalten

1. Die Hecklichter und hintere StofRstange ausbauen.

2. Die Kunststoffstrebe von der StoRstange entfernen, sie ist nicht mehr notwendig.

3.1n den Trager die linke Seite einschieben und'mit 2 Schrauben M12x40 und grol¥flachigen U-Scheiben befestigen. -Nicht
festziehen! In den rechten Trager die Zugeinrichtung einschieben und mit der linken Seite zusammenschrauben. Die gesamte
Zugeinrichtung ausrichten und alles mit den entsprechenden Momenten festziehen.

4. Alle im Punkt Nr. 1 ausgebauten Teile wieder einbauen.

1. Demontujemy tylne lampy i tylny zderzak.

2. Ze zderzaka usuwamy plastikowe wzmocnienie, ktdre nie bedzie juz potrzebne.

3. Do belki wsuwamy lewy bok i przymocowujemy go 2 Srubami M12x40 przez podktadki wielkopowierzchniowe.

Nie dokrecamy! Do prawej belki wsuwamy TZ i skrecamy z lewym bokiem. Caty TZ wyrdwnujemy i wszystko dokrecamy
z zachowaniem wymaganych-momentéw dokrecania

4. Montujemy z powrotem wszystkie czesci zdemontowane w punkcie fir 1.

I 1] St YU ija mo ntai LB Aby uzyskaé szczegdiowe instrukcje instalacji i warunki produktu, zeskanuj kod QR

@ N ot i ce d e mMmon ta g e Pour des instructions d'installation détaillées et les conditions du produit, scannez le code QR

1. Déposer les feux arrieres et le pare-chocs arriére.

2. Déposer le renfort en plastique du pare-chocs, il ne sera plus nécessaire.

3.Introduire le flanc gauche dans le longeron et fixer a I'aide de 2 vis M12x40 et des rondelles grande surface. Ne pas-serrer !
Introduire le dispositif d'attelage dans le longeron droit et visser au flanc gauche. Egaliser le dispositif d'attelage et resserrer
I'ensemble selon les couples de serrage.

4. Remettre et monter I'ensemble des pieces déposées au point n°1.

SVC GROUP s.r.o0. Prumyslovazona-179 www.svcgroup.cz Te'-=j;j%8 ﬁg}jg]gg;

547 01 Nachod-CR e-mail: sve@svcgroup.cz  yob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / With QR code you can download the extended assembly instructions SVC GROUP ©- 05/19




H

MontéZni ndvod
Montazny névod

SCAN ME . . .
Installation instructions
Installationsanleitung
Instructions d'installation
WHCTpyKWys No ycTaHoBKe

I==E.
\—

SVC GROUP O

o~ SVC GROUP s.r.0. Primysiovazéna- 179 www.svegroup.cz  Tel: 7420 49142102)
ey | 547 01 Nachod-CR ~ e-mail: sve@svegroup.cz mob.: +420 603360607

QR kédem stdhnete roziifeny monitézni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden SVC GROUP ©-05/19




| .d“ 1

Ty |

SVC GROUP s.r.0. Pramyslovazéna-179 www.svcgroup.cz
547 01 Nachod-CR

Tel.:+420 491421021
QR kédem stdhnete rozsifeny montdzni navod / 3a donomo20r0 QR-KOOY 61 MoXceme 3a8aHMaXCUMu po3wiupeHi iHcmpyKuyii ujo0o cKnadoHHA

3 +420 491421022
e-mail: sve@svcgroup.cz mob.: +420 603360607

SVC GROUP ©- 05/19



CAGEAS-\

A L=
‘l“\" I Oll—ts1— iiilw'\‘
l/’— ~1e1 l

:60:

200

SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz

. 547 01 Nachod-CR
OR kodem stdhnete rozsifeny montdzni ndvod/ QR kodom stiahnete roziirené montdzny ndvod

Tel.:+420 491421021

3 +420 491421022
e-mail: sve@svcgroup.cz mob.: +420 603360607

SVC GROUP ©- 05/19



G 7\

e |

SVC GROUP s.r.0. Pramyslovazéna-179 www.svcgroup.cz
. 547 01 !\[échod.CR e-mail: sve@svcgroup.cz mob.: +420 603360607
QR kédem stahnete rozsireny montazni navod / @) Muuds-d Y ~uch da-a-w 9 Pl Cakwl Y

Tel.:+420 491421021
+420 491421022

0 a3 SVC GROUP ©- 05/19



SULRNE

IIIII‘IIIIIIIII‘.I“"

i

Informace pro odpojovéni couvacich senzor(i PDC pro tazné zafizeni
Vypinac pro vypinani couvacich senzoru PCD je umistnény na palubni desce vozu.

Nemusite tedy pracné na elektro instalaci vozu napojovat odpojovani couvacich senzorli PDCa zpétnych kamer od elektro pripojky taznych zafizeni.
Pokud chcete senzory vypnout;, poufZijte vypina¢ na palubni desce:

f\ . \
N i
Policie__Police_Polizei nonmiyng

SVCGROUP

Dékuje za divéru / Dakuje za doveru

: Registrace / Registrdcia
Thank you for your trust / Danke Fiir dein Vertrauen Registration / Registrierung
Merci pour votre conance / Grazie per la tua ducia Inscription /-Registrazione
Tankewol foar jo fertrouwen / Cnacu6o 3a Balue joBepue Rekisterginti / Peructpaums

SVC GROUP ©- 15/2020

SVC GROUP s.r.0. Primyslovazona-179 www.svcgroup.cz Te'-=j;j%8 jg}jg}g%;

547 01 Néchod.éR e-mail: sve@svcgroup.cz mob.: +420 6033605607
QR kédem stdhnete rozsifeny montdizni ndvod / QR kédom stiahn ie rozsirené montdzny ndvod SVC GROUP ©- 05/19




@ Informace k provozu / homologaci

Vyrobek je vyrabény dle platnych norem EHK-55 R pro prodej ve stdtech EU:-Informace pro pouZiti, provoz a zéruky pro tazné zafizenf naleznete'na nasem webu, www.svegroupcz
Technické informace > TaZné zafizeni>Vseobecné podminky pouZiti vyrobku. Nebo si je stdhnéte aplikace pes pfilozeny QR-cod

Soucasti dodavky tazného zafizeni je dodan TYPOVY LIST. Tento typovy list slouZi pro zapséni vjrobku do technického prilkazu vozidla, a obsahuje zakladni podminky pro pouiti vyjrobku.
Typovy list slouZi i jako zaruéni lis proto jej uschovejte v dokumentaci vozidla.

@ Informdcie na prevadzku / homologdciu

Vijrobok je vyrabany podla platnychoriem EHK-55 R pre predaj v Statoch EU. Informacie pre poufitie, prevédzku a zéruky pre tainé zariadenie ndjdete na nasom webe, www.svegroup.cz
Technické informdcie>> Tazné zariadenie> Vieobecné podmienky pouZitia vyrobku. Alebo si ich stiahnite aplikacie cez priloZzeny QR-cod

Siicastou dodavky tazného zariadenia je dodany TYPOVY LIST. Tento typovy list sl(iZi pre zapisanie vyrobku do technického preukazu vozidla, a obsahuje zékladné podmienky pouZitia vyrobku.
Typovy list slzi aj ako zaru¢ny lis preto ho uschovajte v dokumentacii vozidla.

@ Operating / homologation information

The product is manufactured according to the applicable EHK-55 R standards for sale in EU countries. Information on the use, operation and warranties for the towbar can be found

on our website, www.svcgroup.com

Technical information> Towing hitch> General conditions of use. Or download them via QR-cod

The towing device is supplied with a TYPE SHEET. This data sheet is used to enter the product in the vehicle registration document and contains the basic conditions for use of the product.
The data sheet also serves as a warranty press, so keep it in the vehicle documentation.

@ Betriebs /Zulassungsinformationen

Das Produkt wird gemal den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewahrleistung der
Anhéngerkupplung finden Sie auf unseer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungshedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhdngevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthilt die Grundbedingungen
fiir die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse:Bewahren Sie es daher in der Fahrzeugdokumentation auf.

@ Uzemeltetési / homologécios informacick

Das Produkt wird gemaB den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewahrleistung der
Anhéngerkupplung finden Sie auf unseer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungsbedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhangevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthélt die Grundbedingungen fiir
die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse. Bewahren Sie es daher in der Fahrzeugdokumentation auf.

@ Informations d'exploitation / homologation

Le produit est fabriqué conformément aux normes EHK-55 R applicables pour la vente dans les pays de I'UE. Des informations sur I'utilisation, le fonctionnement et les garanties de
I'attelage sont disponibles sur notre site Web, www.svcgroup.com.

Informations techniques> Attelage de remorguage> Conditions générales d'utilisation. Ou téléchargez-les via QR-cod

Le dispositif de remorquage est fourni avecune feuille de type. Cette fiche echnique est utilisée pour entrer le produit dans le cerrtifi  t d'immatriculation du véhicule et contient les
conditions de base pour |'utilisation'du produit. La fiche echnique sert également de presse de garantie, conservez-la dans la documentation du véhicule.

G Informazioni sull'operazione / omologazione

I prodotto & fabbricato secondo le norme EHK-55 R applicabili in vendita nei paesi dell'UE. Informazioni sull'uso, il funzionamento e le garanzie per il gancio di traino sono disponibili
sul nostro sito Web www.svcgroup.com

Informazioni tecniche> Gancio di traino> Condizioni generali d'uso. Oppure scaricali tramite QR-cod

IIdispositivo di rimorchio viene fornito con una SCHEDA TIPO. Questa scheda tecnica viene utilizzata perinserire il prodotto nel certifictodi immatricolazione del veicolo e contiene

le condizioni di base per I'uso del prodotto. La scheda tecnica funge anche da pressa di garanzia, quindi conservala nella documentazione del veicolo.

SVC GROUP s.r.o0. Prumyslovazona-179 www.svcgroup.cz Te'-=j;2‘%8 jg}j%}gg;

547 01 Nachod-CR ~ e-mail: sve@svegroup.cz nob; +420 603360607

QR kédem stdhnete rozsifeny montcizni ndvod / QR-kéddal letéliheti a kibvieett 6zeszerelési utasitdsokat SVC GROUP ©-05/19




@ Monteringsanvisningar

Het product is vervaardigd volgens de toepasselijke EHK-55 R-normen voor verkoop in EU-landen. Informatie over het gebruik, de werking en de garanties voor de trekhaak vindt u op
onze website, www.svcgroup.com Technische informatie> Trekhaak> Algemene gebruiksvoorwaarden. Of download ze via QR-cod

Het sleepapparaat wordt geleverd met een TYPE BLAD. Dit gegevenshlad wordt gebruikt om het product in het voertuigregistratiedocument in te voeren en bevat de basisvoorwaarden
voor het gebruik van het product. Het gegevensblad dient ook als garantiepers, dus bewaar het in de voertuigdocumentatie.

@ instrucciones de montaje

El producto se fabrica de acuerdo con los estandares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacion sobre el uso, el funcionamiento y las garantias
de la barra de remolque en nuestro sitio web, www.svcgroup.com Informacién técnica> Enganche de remolque> Condiciones generales de uso. 0 descarguelos a través de QR-cod

El dispositivo de remolque se suministra con una HOJA DE TIPO. Esta hoja de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene

las condiciones bésicas para el uso del producto. La hoja de datos también sirve como una prensa de garantia, por lo tanto, consérvela en la documentacién del vehiculo.

@ Montage-instructie

Tuote on valmistettu EU-maissa myytavien EHK-55 R -standardien mukaisesti. Tietoja vetokoukun kdytosta, kdytostd ja takuista loytyy verkkosivuiltamme www.svcgroup.com
Tekniset tiedot> Vetokoukku> Yleiset kéyttdolosuhteet. Tai lataa ne QR-koodin kautta

Hinauslaite toimitetaan TYYPPI-ARKKI. Téta lomaketta kdytetddn tuotteen sybttamiseen ajoneuvon rekisterdintitodistukseen, ja se sisaltdd tuotteen kdyton perusedellytykset.
Tietolomake toimii myds takuupuristimena, joten sdilyta se ajoneuvon dokumenteissa.

Izdelek je izdelan po veljavnih standardih EHK-55 R za prodajo v drzavah EU. Informacije o uporabi, delovanju in garancijah za vlecno plosco najdete na naSem spletnem mestu www.svcgroup.com
Tehnicni podatki> Vlecna kljuka> Splosni pogoji uporabe. Ali pa jih prenesite preko QR-kod

Vlecna naprava je opremljena s TIPNIM LISTOM. Ta podatkovni list se uporablja za vnos izdelka v registracijski dokument vozila in vsebuje osnovne pogoje za uporabo izdelka.

Podatkovni list sluzi tudi kot garancijski tisk, zato ga hranite v dokumentaciji vozila.

@ Drifts- / homologasjonsinformasjon

Produktet er produsert i henhold til gjeldende EHK-55 R standarder for salg i EU-land. Informasjon om bruk, drift og garantier for tilhengerfeste finner du pa &r hjemmeside,
WWW.svcgroup.com

Teknisk informasjon> Tilhengerfeste>> Generelle bruksbetingelser. Eller last dem ned via QR-koding

Taueanordningen leveres med TYPEBLAD. Dette databladet brukes til & oppgi produktet i kjgretayets registreringsbevisog inneholder de grunnleggende betingelsene for bruk av produktet.
Databladet fungerer ogsa som garantipresse, sa hold det i bilens dokumentasjon.

@ Informacje dotyczace pracy / homologadji

Produkt jest wytwarzany zgodnie z obowiazujacymi normami EHK-55 R na sprzedaz w krajach UE. Informacje na temat uzytkowania, obstugi i gwarancji na hak holowniczy mozna
znalez¢ na naszej stronie internetowej www.svcgroup.com Informacje techniczne> Zaczep holowniczy> Ogdlne warunki uzytkowania. Lub pobierz je za pomoca kodu QR
Urzadzenie holownicze jest dostarczane z ARKUSZEM TYPU. Ta karta danych stuzy.do wpisania produktu do dokumentu rejestracyjnego pojazdu i zawiera podstawowe warunki
uzytkowania produktu. Karta danych stuzy réwniez jako prasa gwarancyjna; dlatego przechowu;j ja w dokumentacji pojazdu.

@ WHpopmauua o pabote /omonorauuu

El producto se fabrica de acuerdo con los estandares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacién sobre el uso, el funcionamiento y las garantias
de la barra de remolque en nuestro sitio web, www.svcgroup.com

Informacién técnica> Enganche de remolque> Condiciones generales de uso. 0'descarguelos a través de QR-cod

El dispositivo de remolque se suministracon una HOJA DE TIPO. Esta hoja-de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene las
condiciones bdsicas para el uso del producto. La hoja de datos también sirve como una prensa de garantfa, por lo tanto, consérvela en la documentacion del vehiculo.

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:1420 491421021

2 % : +420 491421022
547 01 Nachod-CR ~ e-mail: sve@svcgroup.cz yob.: +420 603360607

QR kécdem stdhnete rozsireny montazni ndvod / Con il codice QR & possibile scaricare le istruzioni di assemblaggio estese SVC GROUP ©- 05/19




Homologace - registraéni certifikat

Exx -55R-01 x.01

14 G PODMINKY HOMOLOGACE

e

Montdzni instrukce - MontazZny instrukcia - Installation insrtuktion - Montageanleitung - Istruzioni di montaggio - Instrukcja montazu - Manual de montaje Monteringsvejledning - Paigaldusjuhe nd -
Asennusohje - Notice de montage - Sz. szerelési (itmuutatd - Montagehandleiding - Monteringsanvisning - Insructioni de montaj -Teringsanvisningar - VIHCTpyKLum no MOHTaxy

Volny prostor dle prilohy VII, smémicec: EC 55-R EU musi byt dodrzen. Classe A50-X
Volny priestor podla prilohy VI, smérice¢. EC 55-R EU musi byt dodrzany. @

The clerarance specied in appendix VI, diagram 25 ofguideline EC r-55 EU must be guaranteed.

E-1

Der Freiraum nach Anhang VII, Abbildung 25 der Richtlinie EC R-55 EU ist zu gewéhrleisten.
Az EC55-R EU irdnyelv VII. mellékletében, a 25. dbran a vondgomb elhelyezése szaméra elirt szabad tér-adatokat bizitositani ke

Lazone de dégagement doitément aannexe VII, illustration 25 de la directive EC 55-R EU.

Volny prostor y
dle EUR-55.01 folng prasfor
die EU R-55.01

Deve essere garantito lo spazio libero secondo fallegato VI, gura 25 della direttiva EC 55-R EU.

De tussenruimte conform supplement VI, afbeelding 25 van de richtlijn EC55-R'moet in acht worden genomen. Al

Debe garantizarse el espacio libre, conforme al anexo VI, gura 25 de la directiva comunitaria EC 55-R EU.

P
AT T[T O T O

N R IEERY SR

min 55mm 140mm|

= /45°min

Vapaa tila on taattava direktiivin EC 55-R EU liitteen VII, kuvan 25 mukaisesti.

AN
A

o
€

Spelrummet enligt bilaga VI, Figur 25 i riktlinje EC 55-R EU skall garanteras.

350—420

Friromment etter tillegg VII, gur 25 i direktiv EC 55-R EU skal overholdes.

Nalezy zapewnic szczelnos¢ zgodnie z rysunkiem.nr25 dyrektywy EC 55-R zawartej w zatacznikunr VII.

0000600060606000

LUlapuka B npunoxetun VII. Aupektuebl EC55-R eu.

@ Pri celkové pfipustné hmotnosti vozidla @ Pri celkovej pfipustnej hmotnosti vozidla @ At laden weight ofthe vehicle

@ Bei zuldssigem Gesamtgewicht des Fahrzeuges @ Rakomannyal terhelt jarmsly eseltén @ Pour poids total en charge autorisé du véhicule

° Perun peso complessivo ammesso del veicolo @ Bij toelaatbaar totaal gewichtvan het voertuig @ Con peso total autorizado del vehiculo @ Ajoneuvon suurimmalla sallitulla kokonaispainola
@ Vid fordonets tillltna totlvikt @ Ved kjgretayets tillatte totalvekt @ W przypadku najwikszej dozwolonejmasy cakowitej @ B cnyyae HarpyeHHoro aBTomobuna

>0

Pokud jsou v technickém prikazu vozidla uvedené nizsi hodnoty nez zvefejnéné kdokumentaci vyrobku .Jsou tyto hodnoty vyrobce vozu smérodatné pro zapsénido technického prﬁkazu vozidla.

If ti&e veh||1cle s certicate of roadworthiness indicates lower values than those published in the product documentation. These values by the vehicle manufacturer are decisive for the entering into the vehicle's certificte of
roadworthiness.

Falls im KFZ-Brief des Fahrzeugs niedrigere, als in der Dokumentation des Produkts verdientlichte Werte angefiihrt sind, sind diese Werte des Fahrzeugherstellers fiir den Eintrag in den KFZ-Brief des Fahrzeugs maBgebend.

Amennyiben a forgalmi engedélybe jegyzett adatok a gépjérmii dokumentdcidban feltiintetetett adatoktdl alacsonyabb értékiiek lennének, tigy a gépjarmd gyartdja ltal megadott és a forgalmi engedélybe pontosan bejegyzendd
adatokat kell irdnyadoként mindsiteni.
Si, sur la carte grise du véhicule, vous trouvez des valeurs inférieures a celles publiées dans la documentation du produit, les valeurs du fabricant du véhicule sont déterminantes et devront étre inscrites sur la carte grise du véhicule.

Se nella carta di circolazione del veicolo'sono riportati valori inferiori a quelli indicatinella documentazione del prodotto. Questivalori del produttore del veicolo sono decisivi per la registrazione nella carta di circolazione del veicolo.
l\}(l)se |rnJ1Iet kentekenbewijs van het voertuig lagere waarden vermeld staan dan gepubliceerd in de productdocumentatie, dan zijn deze waarden van de fabrikant van het voertuig bindend voor inschrijving in het kentekenbewijs van het
Sien Iagcha técnica del vehiculo se indican valores menores que los publicados en la documentacion del producto, estos valores facilitados por el fabricante del vehiculo son decisivos para la inscripcidn en la ficha écnica del vehiculo.
Jos ajoneuvon rekisteriotteessa on esitetty alempia arvoja kuin tuotteen dokumentaatiossa esitetyt, ovat néma ajoneuvon valmistajan antamat arvot ratkaisevia ajoneuvon rekisteriotteeseen merkitsemistd varten.

Om det i fordonets registreringsbevis nns angivna ldgre vérden &n de som &r angivna i produktens dokumentation, &r dessa varden frén fordonets tillverkare riktgivande for det som antecknas i fordonets registreringsbevis.

Dersom det i kjoretayets vognkort er oppgitt lavere verdier enn de som er oXentliggjort som produktdokumentasjon, er disse angivelsene fra kjoretaysprodusenten retningsgivende for & noteres ned i kjoretayets vognkort.

Jezeli w dowodzie rejestracyjnym pojazdu'sa podane wartosci nizsze od tych, ktore znajduj sie w dokumentacji wyrobu, to te dane producenta samochodu sa miarodajne do wpisania ich do dowodu rejestracyjnego pojazdu:

060600600000606000

Ecms nacnopre TpaHCMNOPTHOTO CPEACTBA yKa3aHbl 6Gonee HU3KMe 3HaUEHus, Yem YKa3aHHble B JOKYMEHTALIU Ha U3ieNNe, 3TN 3HaU€HNA NPOu3BOANTENA ABNAITCA ONPEAENAIOLLIMMIA 1NA 3aNUCK B NACNOPT TPAHCMOPTHOrO
(pencTea.

SVC GROUP s.r.0. Primyslovazona-179 www.svcgroup.cz el 'j;jgg jg}jg}gg;

547 01 Nachod-CR ~ e-maiil: sve@svcgroup.cz mok,.: +420 603360607
QR kodem stdhnete rozsifeny montdzni ndvod / Com o cédigo QR, vocé pode baixar as instrticbes de montagem estendicics SVC GROUP ©- 05/19




@ Pozor informace k zéruce
@ Pozorinformécie k zéruke
@ Note the warranty information

@ Vegye gyelembe a jotallasi informaciokat
@ Notez les informations de garantie
G Nota le informazioni sulla garanzia

Atencion
Huomio
Uwaga

BHumanue

®
@
@
@

@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie

} @é@/

BRZDENI - BRAKE < GEBREMS'

€ - GEBREMS

0

Classe A50-X

4 Ao
" u J
A
7~ BREDENI - BRAKE - GEBREMS, BRIDENI - BRAKE - GEBREMS
— @ < <
_'—‘:' Classe A50-X a
T

O km O km
g

Vysokov 179

547 01 Néchod, Ceska Republika +420 603 360 607 +420 491421021

WWW.svVcgroup.cz

SVC.GROUP©-08-2019 Ser&ce WVitver €entrum



@ Pozor informace k zaruce @ Vegye gyelembe a jotallasi informaciokat Atencion

@ Pozorinformicie k zaruke @ Notezles informations de garantie Huomio

BHumanue

@ Note the warranty information G Nota le informazioni sulla garanzia @ Uwaga
@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie @

Vysokov 179
547 01 Néchod, éeskc’: Republikq +420 603 360 607 +420 491421021

WWW.svVcgroup.cz ”
Service Vitver Centrum

SVC GROUP©-08-2019




HYUNDAI TUCSON & 01/2021 ->

SCAN ME

@ Ma nua I d e Mo ntaje Para obtener instrucciones detalladas de instalacién y condiciones del producto, escanee el cédigo QR

1. Desmonte los focos traseros y el parachoques trasero.

2. Quite el refuerzo pldstico del parachoques:que no hara falta mas:

3. Inserte en el soporte el lado izquierdo y sujete con 2 tornillos M12x40 a través de arandelas grandes. iNo apretar!
En el soporte derecho inserte el equipo de tiro y atornille con el lado izquierdo. Ahora enderece todo el equipo de
tiro y apriete segun los pares de apriete.

4. Ponga de vuelta y monte todas las piezas desmontadas segun el punto No. 1.

(]
Q Ase n n u SO hj e Tarkemmat asennusohjeet ja tuotteen ehdot on tarkistettava OR-koodilla

1. Irrota takavalot ja takapuskuri.

2. Irrota puskurista sen muovijaykiste, sita ei enaa tarvita.

3. Tyonna vasen sivuosa palkkiin ja kiinnita se 2 ruuvilla M12x40 suuria aluslevyja kdyttden. Al kiristd! Tydnna vetolaite
oikeaan palkkiin ja kiinnita se yhteen vasemman sivuosan kanssa. Suorista koko vetolaite ja kirista kiristysmomenttien
mukaisesti.

4. Palauta ja asenna paikalleen kaikki kohdassa 1. irrotetut osat.

o o o o
G I Str u z I o n l d I m o nta g g I o pe r I a Per istruzioni di installazione dettagliate e condizioni del prodotto, eseguire la scansione del codice QR

1. Smontare i fanali posteriori e il paraurti posteriore.

2. Togliere il rinforzo di plastica dal paraurti, non sara piu necessario.

3. Inserire nel supporto il lato sinistro e fissarlo con 2 bulloni M12x40 e lerondelle di grandi dimensioni. Non serrare a fondo!
Inserire nel supporto destro il dispositivo di traino e collegare conil lato sinistro usandao le viti.

Allineare tutto il dispositivo di traino e serrare bene con le coppie di serraggio prescritte.

4. Rimontare tutti i componenti smontati nel punto 1.

@ M A CTPYKu vuda rno Mo HTa)Ky [loapo6HbIe MHCTPYKLIMY MO YCTaHOBKE 1 YCIIOBUAM NPo/iyKTa oTcKaHupyiiTe QR-Koa.

1. CHummnTe 3agHNe GoHapU v 3a8HUIA Bamnep.

2. CHMMMTe c Bammepa NAacTUKOBbIN YCUAUTEND, OH Bo/blE He NoTpebyeTcs.

3.RTaBbTe B 6anky neBblt 60K U npuxBaTuTe 2 6onTamm M12x40 ¢ cnosb3oBaHMEM YBENMYEHHDIX Walb. He 3aTarmeaitte!
B npasyto 6anky BcTaBbTe GapKOM U CBUHTUTE C IeBbIM BOKOM. BbipoBHANTE dapKon v 3aTAHWTE B COOTBETCTBUM

C NpeanucaHHbIMU MOMEHTAMM 3aTANKKW.

4. BepHuTe Ha MeCTO BCe YacCTu, 4EMOHTUPOBAHHbIE cornacHo . 1.

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:1420 491421021

2 % : +420 491421022
547 01 Nachod-CR ~ e-mail: sve@svcgroup.cz yob.: +420 603360607

QR kodem stdhnete rozsifeny montdzni navod /Verwenden Sie den QR-Code, um die erweiterte Montageanleitung herunterzuladen SVC GROUP ©-05/19




Nevite si rady? Potfebujete poradit?

Nas zakaznicky servis
je vam k dispozici

%, +420491 421021

g Svc@svcgroup.cz

Opravdovy specialista a Certifikovany vyrobce taznych zafizeni
s nejvétsim sortimentem v CR. Rodinna firma s vice jak 30letou
ovérenou tradici vyroby, prodeje a montaze.

WWW.SVCgroup.cz



